Yr1Bepxaaro

TexHuuecku TUpeKTop

Anncenkos O.A.

1.1

1.2

Mennas IIPOBOJIOKA

IlepeyeHb OCHOBHBIX JeTAJIEH M Y3J0B NYIIKHU Tena0Boi razopoii TII-2-01 T’

os. Haumenosanne Ko 5 BunTt (camopes) 4x8 3 11.2 | 3akienka 8
1 Koxyx BHemHuit B cbope 1 6 Konojaka 3a3emienust 1 11.3 | Kamepa cropanust 1
1.1 | OrpaxieHue nepeaHee 1 7 [1aii6a 4 3yOuaras 2 12 | T"aiixka M6 1
1.2 | 3aksenka 4 8 [1aii0a 4 npyxuHHAs 1 13 | Comio 1
1.3 | Koxyx BHEIIHHI 1 9 Bunt M4x10 1 14 | BuHrt (camopes) 4x8 6
2 Pyuxa 1 10 | Tajixa M4 1 15 | TI'afixa M5 1
3 Bunt M5x14 2 11 | Kamepa cropanus B cbope 1 16 | Kponmreitn 1
4 | Illaii6a 5 2 11.1 | Voop 4 17 | Tepmoctat 80°C 1
2

19.2 1.2 mm, L=0,3 M
19.3 | Knanan
20 Pozxur anexrpuueckuil B
cbope TpyOka B cb6ope 1
20.1 | DmexTpox po3Kura 1 35.1 | TpyOka «yronok» 1
20.2 | dukcarop 1 35.2 | Ulryuep 1
203 KHomka 31eKTpru4ecKkoro | 36 | Tpoitauk 1
"~ | pozxura 37 | Conenonn 5503 1
21 | Bunr (camopes) 4x8 1 38 | Hlaiiba (@umy=10, @,=15, S=1.3) 1
22 | Bont M5x16 1 39 | Taiika cnenunansHas M10 1
23 | llaii6a 5 mpyxuHHAs 1 40 | Kopmyc kmamana 1
24 [aii6a | 41 | DnexTpoMarHUTHBIA KIanaH 1
(D=4, De=21.5, S=1.9) 42 | IlpenoxpaHUTENbHbIH KIanaH 1
25 | Benrumsrop @170 1 43 | 3amuTHBINA KOJIIaYOK 1
26 | Mydra BHemHSIS 1 44 | Bunrt (camopes) 4x8 4
27 | Mydra BHYTpeHHSs 1 45 DNEeKTPOIIHYD |
2 —
28 DJekTpoaBUraTeb | 3x0.75 mm”, L=1,5 M
220V, 5/25W 46 | ®ukcarop 3IEKTPOUIHYpa 1
29 | Orpaxnenue 1 47 | Koxyx HWKHUH 1
30 | Bunar M4x10 3 48 | I'aiika cnenunanbHas M15 1
31 | Ilaiita 4 3 49 | Knonka kmamaHa 1
32 | Bunr (camope3) 4x8 2 50 | IlmactrHa mprKHMHAs 1
33 | Muxekrtop 0,86 1 51 | BunT (camopes) 4x8 2
34 IIpoBoaHuK ¢ ABYMS 1 52 | IIpoBOJHMK NBYXKOHTAKTHBII 2
pazpemMamMu 53 | Beikmouarens 250V, 16A 1

18 | Bunr (camopes) 4x8
Tepmomnapa ¢ k1anaHoM B
cbope
Tepmonapa

| 53
Hauansuuk T.O.

[lerpos B.T'.

NuxeHep-KOHCTPYKTOP
Maspun .10.



